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FIRST YEAR HIGHER SECONDARY 
SECOND TERMINAL EVALUATION : DECEMBER-2018 

PART-III 
ACCOUNTANCYWITI-ICOMPUTERISED 

ACCOUNTING 
Maximum : 60 Scores 

General /11structio11s to Cn11didates: 

Time : 2 Hours 
Cool-offTime : 15 Minutes 

• There is a 'Cool off time' of 15 minutes in addition to the writing time. 

• Use the 'Cool off time' to get familiar with questions and to plan your answers. 

• Read questions carefully before answering. 

• Read the instructions carefully. 

• Calculations, figures and graphs should be shown in the answer sheet itself. 

• Malayalam version of the questions is also provided. 

• Give equations wherever necessary. 

• Electronic devices except non programmable calculators are not allowed in the Examination Hall. 
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Question 1 to 8 Answer all questions. Each 1 mA<mml 8 ruG>m Cl(j)~O (IJl.JOGJQSBc!rB6>6o 

carries 1 score. (Sx t =8) t2Cffl>CD6lm'IAm>Adb. 1 01)--CJdbOil> nncmo 

l. Rent paid Rs. 4500 was posted to rent 

accounts as Rs. 5400 which is the error 

occurred here 

a) Error of Principle 

b) Error of Commission 

c) Compensating Error 

d) Error of Omission 

1. 

(8Xl=8) 

4500 <OJn.J ruosdh me.I'c.6l1cwcm" ruosc.6l 

cam c06>"0 ~1 cim 5 4 o o m 6n.J O(j) on ... 

(8.!l.J m rnm 6' [Qn.fl 6)~ cruo<s n1l .gJl m1c006 on 

6)®A" Cl@®o6ffi" ? 

2. The Proprietor ofa furniture shop took 2. 63<06 n.0ro6ml13Jm c£hsw6sm amiwo~66)s 

a dinning table from his shop for his n.11§0<1.JCR>~mowl 63<06 ®looomCR> &hSWlarn 

homely use. In which account this 

transaction is recorded? 

a) Drawings 

b) Purchases 

c) Sales 

d) Expenses 

m1(TT)66)ms6mm6. ~ro ~sn.Jos" O(B®" 

<amce6Y06f©leJ~ IXC06lJ~SJCJ<mS>6ll's®? 

n{j)) o.Jlcrorueflc06)~ 

mJl) oJl~'ct:lm 

cru1) ruo6moo 

ru>'I) 6).!2.J e.iru" 
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3. A document which provides evidence of 3. @2SnJ::>sl6)mc00601~" 6>cm~ru" meJ<B:,6on 

the transactions is known as 

a) Debit <1(j)) @ru>mJlfj' 

b) Credit 
mfl) ~onlls am6U 

c) Source document 
rn>1) @LcSJcuJlff 

d) stock 

4. A business purchased a patent for 4. 63m6 mflrro1m<b\t CTUO::>nJmo <GYOrum66)s 

Rs. 5,00,000 for manufacturing their 

products. They decided to write off 

Rs. 50,000 every year from patieht. This 

is an example of 

a) Depreciation 

b) Amortisation 

c) Depletion 

d) Obsolescence. 

~nm'J:jcmo m1&Ql111c006(m®1m" 5,00,000 

«> 4 nJ w 6 6) 5 63 «> J a nJ A <vf ru o 6ml~ J. 

C3nJA~6)<w nlle.i so,ooo m6nJ so<Smo ruro 

~ru6o Cl{j)~6®1 ®~Om> <m"l<l>c!,QlOffi1.!116, 

@2(15f 63<06 ---------m6 ~C30o0ct>6m!D06TT)". 

cro'I) 
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5. "Profits should not be recorded until 5. e.10@0 m> o db!1 o (n'&cf>o) co1 cf>6) 6> <J:j 3o en'& 

mm1cf>o)r:>6f81cli& rcalised,'but provision should be given 

for all possible losses" Identify the 

accounting principle related to this 

statement. 

a) Consistency concept 

b) Dually concept 

c) Conservatism concept 

d) Cost concept 

6. A bill of exchange is ........... : ......... . 

a) A conditional order 

b) An unconditional order 

c) A conditional undertaking 

d) An unconditional undertaking 

<J(l)6lJ6)'J::jSJcm»Jcf))CDJJ~J. ' nJ(J~, 

m>OW JOlO (DJ O(j)~ 0 m~ 6Ul300'86) l,O 

ru d ru cru.o 6> ru <J c66) 6TS cm o 6m". ~ r:> 

l nJ cro" cm o ru men, 6 mo mJl 6Yll mo 6> c;H 3 

mm ce6) in 6lm1 o uf cm cm»J am 6> cm cm" 

dh6>6TS(ffl) Jc£)). 

mll) . cw~e.iofil cmC'm'IDJo 

6. mf1 ~ 630 n.0" amdh"cro"<:!2.J 6l!lr SCl> 6 -----

<lf©>6ID". 

Ofil) 

mll) 

m>1) <XOUOn.JOw1cf))OlOCID OJ00000ffio 
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7. Which of the following is correct in case 7. ru roo91omn j c£h6mcOO 6c£hcio 

of prepaid insurance, while preparing the ®~OOOt06Wlm.JOcio 

final accounts? 
®06>~6>c000SJ(ffl)OJ <DJl<lrn m6cf6cfhJ;© 

m<lrnc£h1cw ~cf6~6ocrom.>6mo<:DJl 

a) Credited to Profit and loss account 
6YlJCTlJJ6)'J::j§<3®® ? 

b) Shown on liabilities side O{j)) e.JO@ m~ c£h6IDc001etm 6>l&hM1ff 

c) Debited to profit and loss account 6>..a.J~6cm6. 

m.11) 6YlJOWj®CW66>S @O (J) cm>u 
d) Added to capital account 

c£h06m1c006cm6. 

m.>1) e.i o es m ~ c£h 6TT) c001 <lRl 6> M mJl ff 

6>.!2.J ~6 cm 6· 

ru51) m,e.iwm am, c00ro 6TY51 c: mos"' 

<X.!JJ md36) 6 rm 6· 

8. Purchase of fixed asset is an example· for 8. rrudlroocru"cm1 ruO~d36)6rrncm" -------- m6 

a) Revenue Payments 63<0J ~(30o!)(06TT)Cl)06TT)': 

b) Revenue Receipts nu)) orum~ 6>.!2..Je.ioJ 

c) Capital Receipts mll) oruq> ~ ruro6momo 

d) Capital Payments 
cru1) m6e.iwm ruro6momo 

ru51) m6e.1wm 6l!1..1e.10J. 
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Questions 9 to 13 Answer any four 9 m6cmcda 13 ru6>CD(DJ~~ CIAJOG~Qf8~1rda 

Questions. Each question carries 2 scores. O(B6'>Cffl81,1eJAo 4 Cl(:i)fimdm" ~arrm<o6lm'J>6®Jdh. 

(4x2=8) 2 cru"cl~oro nJlano (4x2=8) 

9. Classify the following in to internal and 9. cro06)1:?6)c86)0S6romru@COJ «JrOc:66)'U6W1ouf 

external users of accounting 

information. Investors, store manager, 

tax authorities, Vice President. 

m1cx~o.Jd3>«>, <:@O«> mo<Jm~ro, m1d3>6®1 

<aroW1d3>o<01d3>cio, 6)6)0Jm> l n.Jm>1Mf@' 

10. FolJowing is a Trial balance for the year I 0. 2017 lilO«>..gJ" 31 6)r© lSCOJ~ 

ended 31st March 2017. Correct it if 

there is any mistake 

Trial Balance as on 31st March 2017 

Account Title LF Debit (Rs.) Credit (Rs.) 
· Capital 40000 

Machinery 8500 
Debtors 10000 
Sales 35000 
Cash 21500 
Wages 2500 
Depreciation 1500 
Purchases 31000 

Total 67000 82000 
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I 1. Match columnAwith ColumnB. 

A 

Asset=Capital +liabilities 

Cost concept 

Consistency concept 

Objectivity concept 

11. GlcfhO~o ~ CW Jo ~~Ofilo mllw6CDOmfJ 
Gl.!lJ (t)6 oo.J sl Gl.!lJ ©ce6) 6c&.i · 

B 

Verifiable documents 

Accounting Policies and 
Procedures-are not changed 

Dual-Aspect concept 

Purchase Price 

12. Write the closing entries for the 12. m>::>cru(ffl)1c:9., 

following at the time of preparing 

financial statements 

a) Salaries during the year Rs. 15,000 

b) Commission received during the 

year Rs. 4000 

Explain 
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Questions 14to 18Answcrany4questions. 14 mAtmm1 18 OJ6>CO O(B'>tmm,1e.i6o 

Each question carries 3 score. (4X3=12) 4 

(4XJ=J2) 

14: What arc the objectives of preparing Ttial 14. lSCWcdn 6Yl.l::>e.irmmr cm~oo::>ce6)6cman16)CW 

balance. eJcfh~l\\6nT3W Cl{j)6)mr>06>~CW06TTf ? 

15. I )istinguish between Revenue and capital 15. orumd6 o101.>toru60 mJe.iwm o101.>mru60 

reserve. cmam1e.i6~ OJj<m j::>01.>6ID36>~~ 6<m6c&. 

16. Compute the cost of goods sold for the 
16. 201 7 rurocrli6)(ffl) nllA croowmcm>16>cw 

year 2017 

Sales Rs.20000 
nJlcdn';Hm <OJ. 20000 

Purchases Rs. 15000 
ruo6GB<ef3 ©J. 15000 

Wages Rs. 1000 

<:rucmmo COJt. 1000 

Stock ( Opening) Rs. 3000 

OJ<OcrliOBj <:fQp~" <OJ. 3000 
Stock (Closing) Rs.4000 

Freight inward 
ru&~::>mr>j CJHH::>~" ro,. 4000 . Rs. 1000 

0 
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17. 63<0J o..JeJ.!1.Ja><OO" dhS ffiSCffl>JCYn 
17. The proprietor of a grocery shop 

purchase 200 kg of rice @Rs. 50 per kg 

He record the transaction as Rs. I 0,000 

in the firms book. 

a) Identify the principle for recording 

that transaction. 

b) ~Explain it. 

OJ,:\Oo..JOm1 200 dh1<JeJO CUYOm1 50 (l)6nJ 

n.lle.imr<OO" ruo60al416. cruooo..Jmcm>16)~ 

c0,6Tnc86) 6Tl.1Jc:86)1(d&, 10,000 (06o.J~06ID". 

~'n ~So..JOS 

<J<06lJ 6)<kJS6<m>1 cwm>6mo<D.JI 

6TlJCTW6><J:13 m><m>J<Jmm>061T)? 

18. Complete the journals given below 18. ®06)~ 6)c&.,0S6asrn>1<01c:86)6CTn 

<J~«>6me.i6ce:,oo cu, roasm1 cwoc:86) 6c£➔.>. 

JOURNAL 

Date Particulars LF Debit (Rs.) Credit (Rs.) 
a 2018 .......... ; ................ Ne Dr. 25000 ~ 

Jan I To Ganesh Ne (Purchased 25000 

goods from Ganesh) . 

b Jan 10 Drawings Ne ............... Dr. 2000 

To purchase Ne 2000 

( ........ -..................... ) 

C Jan20 Rent Ne Dr. 4000 

To ............. 4000 

Rent paid by chc que) 
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Questions 19 to 21. Answer any 2 19 m&m<da 2 1 ClJQ(l)(Q)~ffi O(BQ®EB,1eJ~o 

questions. Each question carries 4 scores 

(2X4=8) 

19. From the following particulars of Mr. 

Santhosh prepare a bank reconciliation 

statement as on 31st March 2018. 

a) Bank balance as per cash book 

Rs. 25,000 

b) Cheques issued but not presented 

for payment Rs. 3000 

c) Bank collected Rs. 4000 as 

dividend and credited in pass book. 

d) Cheques for Rs. 3000 deposited 

into bank but not collected. 

e) _ Bank charges of Rs. 400 were not 

entered in cash book. 

2 

(2x4=8) 

mroslcruoom<mll1eim 201a aioro .. !1.f 31 6)r© 

6YlJ::>m," ol<&6m>m>1eflcswoS:1m> <&~R"6)m~ 
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20. Pradecp & Co purchased a Machine for 20. lcud'loJ & ca,<rum1 2012 ~J.6>6>eJ 1 m6 

Rs. 54,000 on l st July 2012 and spent 

Rs. 6.000 as installation charges. The 

estimated life time of machine will be 

12 years and its scrap value will be 

Rs. 6000. Prepare machine account for 

the first four years as the accounts are 

closed on 3 l st December every year. 

2 I . Prepare a purchase day book from the 

following particulars 

54000 <0,ru o.JleJWJ~ 63<nJ 6>Ql~® 

OJ06m'31c86)6dhcnJ6o 6000 ro$nJ 

6>.!l.JeJOJOc86)6dhcnJ6o 6).!l.JcnJ"cm6. 6)(1)~6)~ 

gr/)oJlcm c9.,0eJOO..IUJ1 12 OJ<Od½:!QlOCllJ1 

m1~@<;tJS6(ffl)6dhCW6o 6000 m,nJ Clf@>Ldh1 

oJl e.i m1 <m.1 wJl ce6> 6 &hew 6 o 6> .!lJ w" cm 6. 

rru.o on..J m rnm1 6) ~ c0:, 6TT) c00 6 c0:, cio Cl(i) gJ o 

OJ<On910J6o n.u1cmo611.JCO 3 1 m 6 
<m1l ru m> o m1 c86) 6 c0:, w o 6) Gm f:eJ 1 <If& Clf@> <3 d 
moe.16 ru ron916>rnm 6> rno9:fl mo1 <m1lc86)'U6mf 

®~000c86)Jdh. 

6><£bOS6®'m1ro1ce6>6on 

<em s1 rru.oom®'m1 ~ 

Jan l Purchased from Samson Traders as per 201 8 

invoice No. 341 

40 chairs @Rs. 1500 each 

50 Tables @ Rs. 6000 each 

Trade discount 5% 

Jan· 15 Purchased from sunder traders as per 

invoice No. 768 

60 TV sets @ 3000 each 

80 Alamarah @4000 each 

~ro6. 1 m>Oom>6TTO GllS<ECW«>m>1cd3 

m1on6o 341 fil00<80JOcnJ1m>" lCLldh0ct)o 

. ruo6ml~6. 

40 <fbC3m>m 1500 ro~nJ o..flcmo 

50 (gQ)C/1) 6000 ct>J.nJ o.Jlas>o 

~016• 15 m>6mro <8l5<8(Wffi(Tl)1(d3 m1CTT\!,O 768 

[Qm>e&ruocoJlm>" LnJcfhO<Oo ruo6m'31~6. 

80 mroeimoro 4000 m~n.J o.1lcmo 
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Questions 22 & 23 Answer all q ucstions. 22 lllcl<D>cdl 23 OJQCO ~o GJl.JOB~ABd6c86>Ao 

Each question carries 5 score. (2x5=10) ~C06llll'IA<D>A6- 5 m>CldbOCI 

22. Prepare SumeshA/c from the following 

transactions. 

2017 Febl Sold goods to sumesh 

Rs, 15,000 

Feb 6 Purchased goods from Suresh 

Rs.24000 

. 
Feb 15 Paid cash to sumesh Rs. 20,000 

Feb 24 Received cash from suresh 

Rs. 13,000 

23. Rectify the following errors· 

a) Purchase day book undercast by 

Rs. 1000 

b) Repairs on Machinery Rs. 2500 

debited to machinery account. 

oll<mo (2X5=J0) 

22. ®06)':P cmrm1m1c06)l,CTn @2SnJOSJc.&.,~J6)S 

®~000c06>6dh. 

2017 6>nDl6llJ6. 1 m>6<Jm~m... 15000 

m~nJCWJ6l~ m>owmo n1lfi6. 

6>nDl6TlJ6 6 24000 

m>owmo m>6a:m~6>~. nJc00co?, m1rm6o 

OJ06ml.qdJ • 

6ln1ll6llJ6 15. 20000 m,nJ m>6c:m~m6 

mei"ca,1 

6>n1ll6llJ6 24. m>6a:mo1:{lco?, m1cm6o 

13000 m,nJ e..i~.gJJ. 

cm1 m 6 <m> 6 OJ om o OJ (fl)~ mo cw. 

cx~ro6IDeJJdh6>~~ J®6c.&.,. 

Cl@) nJ «> a:~ m>" 6llJ 6 c06)16) 1 «<@> 6)dh 

cm 6 ca, cw1 am 1 o o o m ~ n..J ca, 6 o oJ 

ru<mJ .. 

m.fl) 6>mo1:{lmo1 o1~wro 6).!2.Jw"cm 

ru ca,w1e166Y80W 6> .!2.J ei ru" 2 5 o o 

m ~ nJ 6> m o1:{1 m o1 COYl> c00 'O 6TT31 co?, 
, 
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c) Goods withdrawn by the proprietor for 

p~rsonal use Rs. 1400 not entered in 

book. 

d) Credit sales to Rohan Rs. 6,000 were 

posted to Sohan account. 

e) Credit purchase from Rahul Rs. 4000 

were recorded in sales book. 

Questions 24 & 25 Answer any one 

question which carries 6 scores. (1 x6=6) 

24. From the following transaction prepare 

a double column cash book 

2017 I Bank balance 
March Cashbal~ce 

m>1) 6)ln.J 06)6)ln.J A«> 0Jjd}@1 n.J (l)Q)OCDJ 

(UJ0QJC/OjC!fro1m6 1400 <0Jn.JCDJJ6)S 

croowmo ~nJ~wocdl~cm" 6llJ6c001<M> 

cwl) 6000 roinJm,66)S croowmo ~roon0m6 

cE» sm o w1 ru1 A®.. ~ croonn 6)rv? 

ClJl'OcOO'UGmlCM> (8.!l..J©Clfrol,. 

~) roon06efl6)rv? nJc06)<M> m1cm6o 4000 

. 
ro~nJW66)S croowmo cE»smocw'l 

QJ06lf81!?.z! cm" 6)ffi)CQJl cdl,m5' 6l1Jl,c06)1<M> 

<8©6lJ6)ruS6cm>1. 

Cl.!l.JOBc\O 24, 25 mruCDll<al 0(86>as>&h1eJAo 

GUDA Cl.!l.JOBJamD1m" ~cm>CDo 0(;)'9 A®Adb. 

6 m> .. CldbOI (1 x6=6) 

24. as> o 6) '5> 6) dh o s 6 rnm1 ro1 c06) 6 cm 

~ScLIOSJd»~Clffl mlcm6o 63<06 <OG"f© <:c&O~o 

d»JO~ .. 6llJJd}6f ffi>~OOOd}6)Jd». 

84000 
30000 

4 Purchased goods by cheque 24000 
8 Sold goods for cash 12000 
13 Purchased furniture by cheque 11000 
16 Sold goods and received cheque 

deposited in bank same day 9000 
17 Purchased goods from son for cash 34800 
21 Purchased books by cheque 2200 
23 Cheque issued to Rajan 

. 3000 
26 Cash withdrew from bank 20000 
28 Salaries paid by cheque 5000 
30 Insurance premium paid 7000 
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25. OnApril4,2017 Pramodsoldgoodsfor 25. 2017 Offiln..ll~ 4 m6 lnJ<&moc3" 60,000 

Rs. 60,000 to Manoj and drew a bill for 

the same amount payable after 4 months. 

The bill was accepted by manoj. Pramod 

discounted the bill with his bank for 

Rs. 59000 on 30th April 2017. 

The bill was dishonoured on Maturity 

date. Manoj agreed to pay Rs. 20500 in 

· cash including Rs. 500 interest and 

accept a new bill for 3 months for the 

remaining Rs. 40,000. The new bill was 

endorsed in favour of his creditor Ajith 

for settling a debt. New bill was duly met. 

Pass journal entries in the books of 

pramod. 

nJl~c£)6)&c£hW6o lnJ<tRJ® <m6c£b~ 4 mocruo 

ce:,oeioruw1m,6~ 63<06 mfl~ 63onn" 

01rucroo 

ruro6cm 40,000 <06nJgt 63<06 nJJ®1W 

mfl~ 3 mom> c£h0e.JOJW1<&WOS<1,c£h~S1 . ' 

c£hSc£}6)0(0ffi0<W mm f!61 mm1 m 6 . 

lnJ<&QlOl316)~ 6n..J6c£)6)1~ ~()JC/OdQlO<W 

0:~({)6TT)eJ6c£hcio %)\9 6®6c£h. 
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Question 26-Answcr the questions which Q.!l.JOC3~o 

carries 8 Scores. (lx8=8) cro .. Gca,ol6 

2e m6 ~cm>co6'>m'l\\aD~dh. a 
(1x8=8) 

26. from tht! balances extracted from the 

books ofMayuri Ltd. prepare Trading and 

profit and loss account for the year ended 

3 1st December 20 l 7 and a Balance sheet 

is on that date. 

26. aHw i ro1 . eJ1 m1 A M16) 1 6Yll 6 c001 afi, 

m1(TI) 6 61 ms 6 mrID1ro1c00 6 rm 
<BTOcB6>'n6l1s6c£b™6)S 6YlJ Oe.J m>ffiX)6m" @::>6>1:9 

6)dh0SJ~1m1cOOc!,fffi<lS>". 2017 cw'lm)o6ll.JCO 

3 1 m 6 mm rum>::> m1c006 rm ru & ~ 6> (ffl) 

eJ o es m ~ &n 6TT) cB6> 6 o ffiT0 01 ru cru 6> ctrr01 

6llJ Oe.Jcfo m>"n9:Jl Ac!, 0 ®~OOOcOO Jdb. 

Trial balance as on 31st December 2017 

Account title 
Sundry Debtors 
Sundry creditors 
Purchases 
Sales 
Purchase Return 
Sales Return 
Salaries 
Rent 
Opening stock 
Printing & Stationery 
Building 
Capital 

Additional information: 

a) Closing stock Rs. 25,000 

b) Salaries outstanding Rs. 3,000 

c) Depreciate machinery by 10%. 

Debit (Rs.) Credit (Rs.) 
10,000 

8,000 
38,000 

54000 
2000 

1000 
6000 
4000 

15000 
2000 

40000 
52000 

1,16,000 1,16,000 

mi. 3000 

m>1) 6>m~mo1c00" 10% <Z®m.>"momo 

dh6mc000c00 J~· 
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